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QUESTION 1

Given: 

11.

 public class Employee { 

12.

 public String name; 

13.

 // insert code here 

14. 

15.

 public String getName() { 

16.

 return name; 

17.

 } 

18. 

19.

 public int getSalary() { 

20.

 return salary; 

21.

 } 

22.

 } 

Which, when inserted at line 13, allows another class to get the value of the salary variable, but NOT change the value
of the salary variable? 

A. readOnly int salary; 

B. secure int salary; 
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C. private int salary; 

D. public int salary; 

E. hidden int salary; 

Correct Answer: C 

 

QUESTION 2

Which is true about RMI? 

A. RMI is used to create thin web clients. 

B. RMI is used to develop applications for wireless mobile devices. 

C. RMI is the Java API used for executing queries on a database. 

D. RMI allows objects to be sent from one computer to another. 

E. RMI is the transport protocol used by web servers and browsers. 

Correct Answer: D 

 

QUESTION 3

Which two are true? (Choose two.) 

A. The javax.servlet package contains part of the servlet API. 

B. A servlet is an open source framework developed for creating web applications. 

C. A servlet is a Java class that executes within a web container. 

D. A servlet is a Java class that executes within a web browser. 

E. The servlet API is included in J2SE. 

Correct Answer: AC 

 

QUESTION 4

You need an algorithm that must: 

.Iterate through an array of primitive integers .Print the value of each array element in index order If the value of the
element is equal to 10, print the value of the element, and then terminate the iteration 

Which method correctly implements the algorithm? 

A. public static void foo(int[] list) {for(int i:list) {System.out.println(i);if (i==10) break;} 
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B. public static void foo(int[] list) {while(list.length > 0) {System.out.println(i);if (i==10) break;} 

C. public static void foo(int[] list) {for(int i=0; i 

D. public static void foo(int[] list) {for(int i=0; i 

E. public static void foo(int[] list) {for each(int i in list) {System.out.println(i);if (i==10) terminate;} 

Correct Answer: A 

 

QUESTION 5

Which three are responsibilties of the business tier in a multitier web-based application with web, business, and EIS
tiers? (Choose three.) 

A. to integrate with legacy applications 

B. to provide business logic 

C. to generate dynamic content 

D. to participate in transactions 

E. to process requests from web-based clients 

Correct Answer: ABD 
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